alphal3_4eX1X:cyclenum {run == 8276}

=
N

alphal3_4eX1X
=

0.8

L AR e

O R fooenaeead asaenas
N R RS T
1 0 11030.5 1 1 11031.5 11032
cyclenum

delta46_12X4eY:cyclenum {run == 8276}

).0035

0.003

).0025

0.002
0015 s rrenmnne e T P SRTTREPPR i
0.00Lf - kv mmmme i e PR

3.0005 [ v e e sl e e et
N IR S B

1 0 11030.5 1 1 11031.5 11032
cyclenum

0.3

0.25

AIPNA4O_4e Y 4d Y

0.2

0.15

0.1

0.05

o

8278

3277.5

8277

3276.5

8276

3275.5

8275

3274.5

8274

alpha46_4eY4aY:cyclenum {run == 8276}

1 0 11030.5 1 1 11031.5 11032
cyclenum
run:cyclenum {run == 8276}

IIIII""I""I""!"''I""I""IIIII
X
X

11030 11030.5 11031 11031.5 11032
cyclenum

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 8276}

11030 11030.5 11031 11031.5 11032
cyclenum

segment:cyclenum {run == 8276}

I B
x
*

11030 11030.5 11031 11031.5 11032
cyclenum




usl_4eY

usl_1X:cyclenum {run == 8276}

11030 11030.5 11031 11031.5 11032
cyclenum

usl_4eY:cyclenum {run == 8276}

171030 11030.5 11031 110315 11032

cyclenum

usl_4ay

usl_4aY:cyclenum {run == 8276}

o

1 0 11030.5 1 1 11031.5 11032
cyclenum

usl_12X:cyclenum {run == 8276}

VTe) SO e e LR X..
P B A B
11030 110305 11031  1103L5 11032

cyclenum

o

8278

3277.5

8277

3276.5

8276

3275.5

8275

3274.5

8274

usl_4eX:cyclenum {run == 8276}

1 0 11030.5 1 1 11031.5 11032
cyclenum

run:cyclenum {run == 8276}

11030 11030.5 11031 11031.5 11032

cyclenum




usr_1X:cyclenum {run == 8276} usr_4aY:cyclenum {run == 8276} usr_4eX:cyclenum {run == 8276}

o—X X >
L 7 ©
[ v‘lo
[ g
B0 iR e
- 8
_40— ---------------------------------------------
[ 6
T e S S S
_80— --------------------------------------------- 4
-100 2
-120 : : : : : : ; : :
o N BN T BT 0 M LSS B
11030 110305 11031 110315 11032 17030 110305 11031 110315 11032 0 110305 11631 110315 11032
cyclenum cyclenum cyclenum
usr_4eY:cyclenum {run == 8276} usr_12X:cyclenum {run == 8276} run:cyclenum {run == 8276}
> x 8278
[ o
vlg ‘—1‘
El El 3277.5
7
8277
6
: 3276.5
5
: 8276
Bl
T O AU 3275.5
] S 8275
T P 32745
N I TS D N A A TS BN J S P A A S I
17030 110305 1031 110315 11032 11030 110305 11031 110315 11032 11030 110305 11031 110315 11032

cyclenum cyclenum cyclenum




18000 F

16000

14000

12000

10000

8000

6000

4000 F

2000

o

-500

-1000

-1500

—-2000

-2500

-3000

usl_coill:cyclenum {run == 8276}

11030 11030.5 11031 110315 11032

cyclenum

usl_coil6:cyclenum {run == 8276}

ik

11030 11030.5 11031 110315 11032

cyclenum

usl_coil3:cyclenum {run == 8276}

12500 [+ -k enenenees A SR )

| b

] SR b e

1000 -5 - eeeeenes CRRPRR ORPRTRREES S

o

1

o] SR TREPPREP e PP EATITEITE

0

11030.5

11031

110315

11032
cyclenum

usl_coil7:cyclenum {run == 8276}

0

11030.5

11031

11031.5

11032
cyclenum

35000
4000
3000
2000

1000

o

8278

3277.5

8277

3276.5

8276

3275.5

8275

3274.5

8274

usl_coil4:cyclenum {run == 8276}

1 0 11030.5 1 1 11031.5 11032
cyclenum

run:cyclenum {run == 8276}

U AR RARRE RALRE RALRY RALAE RARAN AR
[ ...........*..... -
X
X

11030 11030.5 11031 11031.5 11032
cyclenum




—-2000

—-4000

-6000

-8000

10000

12000

14000

16000

-500

-1000

-1500

-2000

-2500

-3000

usr_coill:cyclenum {run == 8276}

11030 11030.5 11031 110315 11032

cyclenum

usr_coil6:cyclenum {run == 8276}

11030 11030.5 11031 11031.5 11032
cyclenum

-500

-1000

-1500

—-2000

-2500

-3000

35000

30000

25000

20000

15000

10000

5000

usr_coil3:cyclenum {run == 8276}

11030 11030.5 11031 11031.5 11032
cyclenum

usr_coil7:cyclenum {run == 8276}

1 0 11030.5 11031 11031.5 11032
cyclenum

- 8000

37000
6000
5000
4000
3000
2000

1000

8278
3277.5
8277
3276.5
8276
3275.5
8275
3274.5

8274

usr_coil4:cyclenum {run == 8276}

X

0 11030.5 1 1 11031.5 11032
cyclenum

run:cyclenum {run == 8276}

U AR RARRE RALRE RALRY RALAE RARAN AR
[ ...........*..... -
X
X

11030 11030.5 11031 11031.5 11032
cyclenum




o

i-20

-100

-120

-140

-100

-150

-200

-250

1X_coill:cyclenum {run == 8276}

11030 11030.5 11031 110315 11032

cyclenum

4eX_coill:cyclenum {run == 8276}

11030 11030.5 11031 110315 11032

cyclenum

4eX_coil3

1X_coil3

12

10

o

o

I
4l

-10

-15

-20

1X_coil3:cyclenum {run == 8276}

11030 11030.5 11031 110315 11032

cyclenum

4eX_coil3:cyclenum {run == 8276}

11030 11030.5 11031 11031.5 11032
cyclenum

1X_coil7

4eX_coil7

~
3]
o

200

150

100

50

o

o
3]
=]

200

150

100

50

o

1X_coil7:cyclenum {run == 8276}

1 0 11030.5 11031 11031.5 11032
cyclenum

4eX_coil7:cyclenum {run == 8276}

11030 11030.5 11031 11031.5 11032

cyclenum



4ay_colla
w
o
o

250

200

150

100

50

o

4eY_colla
w
o
o

N
13
o

200

150

100

50

o

4aY_coild:cyclenum {run == 8276}

11030 11030.5 11031 110315 11032

cyclenum

4eY_coild:cyclenum {run == 8276}

1 0 11030.5 1 1 11031.5 11032
cyclenum

-100

“c 1 _Lunu

-120

-140

4aY_coil6:cyclenum {run == 8276}

11030 11030.5 11031 11031.5 11032
cyclenum

4eY_coil6:cyclenum {run == 8276}

11030 11030.5 11031 11031.5 11032

cyclenum

4aY_coil7

4eY_coil7

4aY_coil7:cyclenum {run == 8276}

o—X% T
[
] R A R
_30—--!- ----------------------------- EEEE ) J:---

r X

S SO S SR

11030 11030.5 11031 11031.5 11032
cyclenum

4eY_coil7:cyclenum {run == 8276}

!
N
ol
T[T T [TT T [TT T [ TT T [ TT T [TT T[T T TTTIo TooT

11030 11030.5 11031 11031.5 11032

cyclenum



-100

-150

-200

-250

~

12X_coil6

)

o

12X_coill:cyclenum {run == 8276}

X

ik

P PR R AR R
11030  11030.5 11031 110315 11032
cyclenum

12X_coil6:cyclenum {run == 8276}

171030 11030.5 11031 110315 11032

cyclenum

o

12X_coil3

Len_vuni

-100

-200

-300

-400

-500

12X_coil3:cyclenum {run == 8276}

11030 11030.5 11031 11031.5 11032
cyclenum

12X_coil7:cyclenum {run == 8276}

11030 11030.5 11031 11031.5 11032
cyclenum

o

12X_coil4

-2

-8

-10

8278

3277.5

8277

3276.5

8276

3275.5

8275

3274.5

8274

12X_coil4:cyclenum {run == 8276}

M AT
11031.5 11032
cyclenum

1 1 1 1
11030 11031

11030.5

run:cyclenum {run == 8276}

U AR RARRE RALRE RALRY RALAE RARAN AR
[ ...........*..... -
X
X

11030 11030.5 11031 11031.5 11032
cyclenum




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


